AN =N =0 ! __BEEe
SHAEE HARMIEEFRFE—E
N _ (FEZERFR
(RERFH - BIEH —
. e ] . zot | PFEME MEL
=h s L VAN mh = |
== *X % = *—I' lz 7] '\EF (ﬂ_:gg) )\ = ﬁ X (E%E) (“‘:\‘%) *ﬁi*‘l’ $1§
E Bl
(XERX]
FRKE TEH(BER) 528,000 300,000 o| 250,000 1,078,000| 30,000 &
(HEAKX]
BEHrEE EEM(BF) 456,000] 200,000/ 180,000 40,000/ 876,000/ 20,000
E 148 LER(Bk) 360,000 150,000 0 94,000/ 604,000 15,000
(dk X]
BEFE TER(BER) 144,000 80,000 80,000 ol 304,000 11,000 &
BiEH (Bx)
(FRERX]
KIEEE TEFR
FEHI—X 400,000| 200,000 ol 100,000 700,000] 20,000
TEE-EdhEEI—X| 290,000 50,000 0 20,000 360,000 20,000
(EARK]
VT LaEF
EHI—X 370,000 250,000 0 90,000/ 710,000 20,000
THEaO—X 225,000 50,000 0 20,000 295,000 20,000
(BERX]
BEHAKXZE TEFR
RAVE—RHIS5R 288,000 50,000 0 40,000 378,000| 10,000
VANAVY &SV 290,000 50,000 o| 180,000 520,000] 10,000
e RR—Y 288,000 50,000 0 60,000/ 398,000 10,000
JO7zviafILISR
(HEAKX]
BEHrEE LaEF
EEH —i% 102,000 9,000 0 ol 111,000 1,000
B — A%
BERHSZ LIS 225,000 30,000 0 40,000 295,000| 10,000
BERHSZ 225,000 50,000 0| 290,000 565,000 20,000
BE4RBEFEI—R 408,0001 200,000/ 180,000 40,000 828,000 20,000
B E
PEH —i% 112,200 9,000 0 ol 121,200] 1,000

13




A L 25 A h ok _EE
SHAEE HARAMIEFFRFE—E
N _ (FEZERFR
(RERFH - BIEH —
. ] . zof | PFEMM MED
=h s L VAN mh = 1]
== *X % = *—I' lz 7] '\EF (ﬂ_:gg) )\ = ﬁ X (E%E) (ﬁ;?%g) *ﬁi*‘l’ $1§
BIEFHI(DDZF)
EXE
PEH —i% 112,200 9,000 0 ol 121,200] 1,000
EARK])
RBREMNEELEE TER 228,000 20,000 23,000 60,000/ 331,000 6,000
ALY
t2s EER
AAF—Ra—R 234,000 50,000 0 40,000 324,000/ 10,000
AUSHILa—R 390,000 80,000 o| 130,000 600,000| 15,000
(FE) (FE)
U\NEFH]
BN OZEER TEFR 200,000 30,000 0 30,000 260,000| 10,000
(Earm)
NHK2E LaEF
ARAUA—RO—R 288,000 35,000 0 40,000 363,000/ 10,000
XifklgLisEa—2| 264,000 35,000 0 90,000] 389,000/ 10,000
ERa—X 360,000 35,000 o| 190,000 585,000 10,000

14




